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THM 348 Service Operations Management
Midterm Exam Answer Sheet
1. What are the management challenges when service firms deliver place and space rental?  (2 Points)
The management challenges when service firms deliver place and space rental as-re as follows:
· Housekeeping / cleaning problems

· Achieve economies of scale

2. When dealing with services, why shall service operation managers adopt the open-system view? What is the most important advantage of this adoption? (2 Points)
When dealing with services, managers shall adopt the open-system view due to the fact that customers are participants in the service process. The most important advantage of this adoption is viewing the customer as a co-producer. For, permitting the customer to participate actively in the service process can increase productivity which, in turn, can create a competitive advantage.

3. How can minimal opportunities for economies of scale limits profitability of service firms. How can companies overcome this problem? (2 Points)
The necessity of physical travel for many services limits the market area and results in small-scale outlets which, in turn, limit profitability of service firms. To overcome this problem, companies can work under franchising agreement and realize some economies of scale by sharing purchasing or advertising costs. Another way is to use the Internet instead of physical travel (ex. Ordering from Trendyol or GittiGidiyor).
4. Explain briefly any 2 challenges for service innovation? (2 Points)
Service innovation brings with it the following challenges:
· Ability to protect intellectual and property technologies: The transparency of service systems makes imitation simpler, and patents difficult to obtain.

· Incremental nature of innovation: Because customers participate in service systems, innovation tends to be evolutionary rather than radical to allow for acceptance.

· Degree of integration required: Service innovation requires interactions among people, products and technology and thus requires systems integration.
· Ability to build prototypes or conduct tests in a controlled environment: Services cannot be tested realistically in an isolated laboratory, so they run the risk of failure or poor performance upon launch.

5. What issues can be thought of when service encounter is dominated by the contact personnel? (2 Points)
When service encounter is dominated by the contact personnel, the following issues can be thought of:
· Personnel may limit the scope of the service encounter.
· Personnel may reduce personnel’s stress in meeting demanding customers.

· Personnel may perceive themselves as having a significant degree of control over customers.

· Customer shall trust personnel’s judgment and assume personnel have sufficient expertise for that.

6. What is the conformance gap in service quality? What might be the reasons behind this very gap? (2 Points)

The conformance gap occurs when actual delivery of the service does not meet the service standards set by management. The reasons behind conformance gap could be as follows:

· Lack of teamwork.

· Poor employee selection.

· Inadequate training.

· Inappropriate job design.

Good Luck
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